TR et - 1

3rgfsa meier

fehar &l g o 16 ST9 SHeh! 37T IsTeri & FAahret! T8, aF 39k 1 g1 dTgd ¥ aTex dlesh g¢ ¥, 5
3@ BRI ANT 8 38 Q| Ig AT G337 Tach 7 § FaTed @3l o @1 AT o T -t fovarr mam| 579
Teh Afea & 73t @ U@, af 39 garan ok ag Rdher &t sifaw g1 oft, orad ag @bl &t ag deer o
gredT AT foh I8 59 TOR T Wil 81 37T AT 3R WTell 81T 81 571 38T &1 3T Sitad W= St oft e, d9a 8k
s e Y, g9 agt 75 man| AR 7 oo gy & uge ag fAenm & b i awgy siaa: fopeft sy Y
eI i, Ig & 91G hadl AR 31 hH IR AT & WY S1d g1 Ig g TSl Ht AT Sfia= 1 Teh 1T
T 3R IRUTGTISh T3LT 3T & foh et duf<d gAR & 8 8, 7 foh «ifdes arer|

T ot Ugh A1 3T 77 gt & 39 AfSQ:
Ut 1: fAchar i areff @+ ot i 3Hs Us &

3.

Uy 2: fAdher & g1 oreff T I18% i e | 972

3.

U2y 3: H#afl A o Rt R g faan?

3.

U 4: fQdher 3 A7 T g T hgl AT?

3.

U 5: 39 el d g1 o dig fAedr 82

3.
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BT het -
Answer

Ut 1: fAchar i areff @@= ot i 3Hs Us &
IR: Aehar sgd Ul 3R rferiemed! Tome o1, 38faT 3Teh! 4 WR IFh! 3Heff 3@ goiRI-AAral ol 393
us 91

U 2: Achar & g1 31t S8R =i eeh @ 92
IR: [Qchex Y s<7 ot fob 3T g1 31eff T S8R Acepiy ST, drfch i 9HsT Idh foh g @Tedl g1 31T o7
3R @Al g1 B ST BT &

T 3: oAt 3 A bl T Teer fear?
IR {3t 7 gqman o ag qHRm g1, Sfcth Uah Geen ¢ o dhar ORT d91a Ig1 Bigeh SIT @I § 91R St &
hael B 3R A g I1Y A1 8

U 4: f@char A R4 T Uget T gl AT?
IR [Adhar 2 gt o1 o STa IqehT aredf FepTeft ST @t 34eh 819 d1gd & aTeR eicehd g, difch il g 3d
fh ag @l g1 ST @I &I

U 5: 3T el & g6 o7 IRg fAerdy 82

3TR: 39 e ¥ gH ag e e 8 foh agsy arg fSat ot duf sifsfa o o, §g & 916 ohael 39k
31 hH IR ATH gl 3T 1Y SITd 8
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